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Aufgabe 1:
2(5+3)=16

-7+ (-3)=-10
5-(-2)=7
(-DG-7)= 2
8:(-2)= -4
2a:a= 2

24 (1-3)(a+4)( )27 (5 +11%2)a) = 2+ 2418

Su(2x-3y)-2x+3y = (Su-1)(2x-3y)
2x(a-2b+3c)+3y(-at 2b- 3c)= (2x- 3y)a- 2bt 3c)
S(x+2(x-y-3(x-y))+4(x-y)-2x)= -5x

Aufgabe 2:
1 2_5
e
3 4 6

2—a+ 3bte_ 8a®+3b> + bc
b 4a 4ab
4 11_ 8
5710 11
(atb)a(-b), -1 _ atbh
2(3b-1)  24°% 3ab*- b
2ux- 4vx- 4yu+ 8yv+ 6zu- 12zv _ x- 2y+ 3z

“2ux+4vx+2yu-4yv-6zu +12zv C-x ty -3z
mit (-x+y-2z)(u-2v) ungleich 0
Aufgabe 3:

3*(2x-4)= 2(x- 2)t 4x- 86 x=x
x ist also beliebig wihlbar.
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3 7

- =0 x=-10

2x+5 4x+5
Aufgabe 4:

3 ' 4 _ 1 =0 3a2x2—-\/5:3ax_4by
4'*'\/7 1"’\/7 '2'|'\/7 3ax+4by

23
(x) - X (_Z)IID_lDIZ__l
x4*x7=x” H 2H -
2a*a'=2
(4y*+3y")*y° = 7y

(m*2n* (L)) 1

20(4'22) * 4 1222 I’l2
(Zx2m+3 _ ix2m-3 + ixm+4) :§x2m+l - sz _ 2x-4 + EX_””}

4 2 5 4 3 15

Aufgabe 5:
n*=144 o n=+12

3k?-12= -9k o k =1Lk =-4

2 -
xtl 2x+4_ ,, x¥tox-1 L={x0R|x#2x#-3)
x-2 xt3 (x- 2)(x+3)

Aufgabe 6:
lglo20 =20

lgN10* = 2

Aufgabe 7:

Die Preise werden um 8% angehoben.

Losungen Seite 2



